42

40
39
38
37
36

Iltem No.

42

LED PCB
Light Base
Lock Nut
Rubber Washer
Hollow Column
Flat Spring Washer

Socket Head Cap
crew

Name

40 38

RGBWA+UV
@200xH71
M4
M4
@20x@8.5xH9
B6x@12xH1
M6x25

Specs(mm)

36

NN N DN

Qty

34

15

33

32

17

31

19

18 20

29
30 28

27

26

21

25 23

24

22

35
34
33
32
31
30
29
28
27
26
25
24
23
22
21
20
19
18
17
16
15
14
13
12
1
10

2N W MO ||| ©

Item No.

Knob
Flat Head Machine
Screw
PS
U

Round Head
Machine Screw

XLR PCB

XLR Port

Flower-shaped
Spring Washer

Fuse Holder Nut
Button Cover
Blind Rivet
Fuse Holder
Hex Head Cap
Screw
Socket Head Cap
Screw
Flat Head Machine
Screw
Power Socket
Power Socket
Back Cover
Acrylic Cover
Display PCB
Spring Washer

Lock Nut

Round Head
Machine Screw

Yoke
Yoke
Rubber Washer
Hollow Column
Copper Column
Lens

Pressing Plate
Round Head
Machine Screw
Flat Head Machine
Screw
Pressing Tablet
Glass
Front Cover

Socket Head Cap
Screw

Name

M8x25
M4x10
100W
M3x6
50%x24
DMX IN/OUT
M4
M12
@10xH6
@3x6
@12
M4x14
M4x8
M3x8
POWER IN True1
POWER OUT True1
@178xH16
42x20xH2.5
132x91
M4
M4
M3x6
219x100xH209
210x65xH139
@18x@8.5xH2
©11.5x26.3xH11.8
M3 Hexagon 26+6
@42xH26.5(6in1)
@185xH1.2
M3x4
M3x8
12x11xH1.2
J182.5xH4
@200xH31 1
M4x30 4

Qty

AN N alaldlalalalalalalaldlolalaldaldlalaldlaINAa~l~N

-
N

||| =

Specs(mm)

Bright XLED HD
True1

Exploded View / Parts List

CREATIVE
TECHNOLOGY

N=P Live Events




	Sht-2-Sheet Title
	1/Sht-2


